

Pay Estimate Created Date: December 4, 2023

Progree	ss Estin 10			Contract ID Prime Contra	221118 ctor Joe's B					ember 2, 2023 ember 1, 2023	Net Chang	e Orde		22,325.80	
Approva	al Date												1	By User	
Decembei 2023	r 4,				Genera	ated and App	roved (an	id shou	ld be considere	ed Draft) at the	Project Off	ice Leve	el by	olivem2	
Decembei 2023	r 4,				Reviewed	and Approved	l (and sho	ould be	considered Dra	aft) at the Resid	dent Engine	eer Leve	el by	stottt1	
Decembei 2023	r 5,					Reviewed and Approved at the Central Office Controllers Office Level b								ramses1	
Origir	nal Com	pletion	Date	Current	Completio	n Date	Actua	al Completion Date % of Curr			Current Co	rent Contract Amount Com			
September 1, 2023			23	Sept	ember 1, 20	23						100.00%			
Contract Informational				al Dates				Mileston	es						
Date I	Descript	tion	Original	Completion I	Date Curre	ent Completi	ion Date No Milestones Exist for Contract								
Acceptance Date Awarded Date Letting Date Notice to Proceed Dat Open to Traffic Date															
			December 6, 2022 November 18, 2022			mber 6, 2022									
						mber 18, 202	2								
		d Date	January 9	9, 2023	Janua	ary 9, 2023									
		ate	August 1	7, 2023	Augu	st 17, 2023									
Work Began Date			May 19, 2	2023	May ²	19, 2023									
21118-H	105	([Total Posted Items Pay Gross Item Adjustments Incentive Disincentive Liquidated Damage			djustments \$4,640.00 \$0.00 \$0.00			\$858,917.2 (\$5,937.88 \$0.00 \$0.00 \$0.00 \$0.00		\$860,7 (\$1,29 \$0.00 \$0.00 \$0.00				
		(Other Cont	ract Adjustme	nts <mark>\$0.0</mark>	\$0.00 \$6,440.00			\$0.00 \$852 979 3	20		\$0.00 \$859,419.39			
Contract	Total Pa	ayable	This Estin	nate:	\$6,				\$852,979.39			,410	.00		
ems Paid	d This Es	stimate	<u>Period</u>												
Project	t Numbei	r Li	ine Numbe	er Item Co	de I	tem Descripti	on	Unit	Unit Price	Current Insta	lled Qty	Cur	rent Installed	d Amount	
J9S3568			0240	806100	5 ROCK	DITCH CHE	СК	LF	\$30.000		60			\$1,800.00	
Project .	<mark>J9S3568</mark>	- Tota	I											\$1,800.00	
Overall -	- Total													\$1,800.00	
ontract A	Adjustm	ents Tł	nis Estima	<u>ite</u>											
			Exist on Co his Estim												
Project Number	Line No.		ltem Desci	ription	Adjustmen Type				Comments			tment ntity	Line Item Adjustment Unit Price	Adjustmer amount	
J9S3568	0230	SEED	ING - CO	OL SEASON GRASSES	Other Item Adjustmen				Seed growth established.					\$4,640.0	
														\$4,640.0	



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Informatic	n					
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
J9S3568	FAS S703(17)	Bridge replacement	FF	WAYNE	over Rings Creek							
Totals by 、	Job Numbe	rs										
J9S3568		d Item Pay Item Adjustm		s Item Pay	This Estimate \$1,800.00 \$4,640.00 \$6,440.00	Previous \$858,917.27 (\$5,937.88) \$852,979.39	To Date \$860,717.27 (\$1,297.88) \$859,419.39					
	Liquid	tive centive lated Damages Contract Adju		i	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
221118-H05	J9S3568	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$2,000.00	\$2,000.0
		0001	0020	2064000	POROUS BACKFILL	40.00	0.00	40.00	CUYD	40.00	\$78.00	\$3,120.0
		0001	0030	2079909	MISC.MOD. LINEAR GRADING CLASS 2	4.80	0.00	4.80	STA	4.80	\$1,200.00	\$5,760.0
		0001	0040	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	715.00	0.00	715.00	SQYD	715.00	\$12.86	\$9,194.9
		0001	0050	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	32.50	0.00	32.50	TONS	32.50	\$101.00	\$3,282.5
		0001	0060	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	31.50	0.00	31.50	TONS	31.50	\$101.00	\$3,181.5
		0001	0070	4019905	MISC.Optional Pavement	714.60	0.00	714.60	SQYD	714.60	\$60.58	\$43,290.4
		0001	0080	4071005	TACK COAT	60.00	-7.00	53.00	GAL	53.00	\$5.00	\$265.
		0001	0090	6079902	MISC.6" Steel Post	4.00	0.00	4.00	EA	4.00	\$800.00	\$3,200.
		0001	0100	6113020	FURNISHING TYPE 2 ROCK BLANKET	454.00	0.00	454.00	CUYD	454.00	\$10.00	\$4,540.
		0001	0110	6113040	PLACING TYPE 2 ROCK BLANKET	454.00	0.00	454.00	CUYD	454.00	\$44.00	\$19,976.
		0001	0120	6161005	CONSTRUCTION SIGNS	308.00	0.00	308.00	SQFT	308.00	\$15.00	\$4,620.0
		0001			ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$45.00	\$180.0
		0001	0140	6161025	CHANNELIZER (TRIM LINE)	15.00	0.00	15.00	EA	15.00	\$18.00	\$270.0
		0001	0150	6161030	TYPE III MOVEABLE BARRICADE	6.00	0.00	6.00	EA	6.00	\$145.00	\$870.0
		0001	0160	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	3.00	0.00	3.00	EA	3.00	\$3,000.00	\$9,000.
		0001	0170	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$75,000.00	\$0.0
		0001	0171	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$67,131.00	\$67,131.
		0001	0180	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,250.00	0.00	1,250.00	LF	1,250.00	\$0.50	\$625.
		0001	0190	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,250.00	0.00	1,250.00	LF	1,250.00	\$0.50	\$625.
		0001	0200	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	343.00	0.00	343.00	SQYD	343.00	\$36.40	\$12,485.
		0001	0210	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	808.00	0.00	808.00	SQYD	808.00	\$3.50	\$2,828
		0001	0220	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$6,000.00	\$6,000
		0001	0230	8051000A	SEEDING - COOL SEASON GRASSES	0.30	0.00	0.30	ACRE	0.30	\$23,200.00	\$6,960
		0001	0240	8061005	ROCK DITCH CHECK	40.00	60.00	100.00	LF	100.00	\$30.00	\$3,000
		0001	0250	8061016	SEDIMENT REMOVAL	10.00	-10.00	0.00	CUYD	0.00	\$10.00	\$0
		0001	0260	8061019	SILT FENCE	597.00	-597.00	0.00	LF	0.00	\$3.60	\$0
		0001	0270	8061050	TYPE C BERM	287.00	-232.00	55.00	LF	55.00	\$5.00	\$275
		0001	0280	8064138	TYPE 2D EROSION CONTROL BLANKET	1,339.00	0.00	1,339.00	SQYD	1,339.00	\$2.30	\$3,079.
		0010	0290	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$4,000.00	\$16,000
		0010	0300	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$3,200.00	\$12,800
		0070	0310	2061000	CLASS 1 EXCAVATION	92.00	0.00	92.00	CUYD	92.00	\$12.00	\$1,104.
		0070	0320	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$45,000.00	\$45,000
		0070	0330	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	111.00	0.00	111.00	SQYD	111.00	\$75.00	\$8,325
		0070	0340	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	511.00	238.00	749.00	LF	749.00	\$95.00	\$71,155
		0070	0350	7026000	PRE-BORE FOR PILING	195.00	8.00	203.00	LF	203.00	\$170.00	\$34,510
		0070	0360	7027000	PILE POINT REINFORCEMENT	18.00	0.00	18.00	EA	18.00	\$125.00	\$2,250
		0070	0370	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	35.80	0.00	35.80	CUYD	35.80	\$1,200.00	\$42,960
		0070	0380	7034219A	TYPE D BARRIER	327.00	0.00	327.00	LF	327.00	\$125.00	\$40,875
		0070	0390	7034222	SLAB ON CONCRETE BEAM	446.00	0.00	446.00	SQYD	446.00	\$395.00	\$176,170
		0070	0400	7056049	21 IN., PRESTRESSED CONCRETE SPREAD BOX BEAM	442.00	0.00	442.00	LF	442.00	\$375.00	\$165,750
		0070	0410	7061060	REINFORCING STEEL (BRIDGES)	2,200.00	0.00	2,200.00	LB	2,200.00	\$2.15	\$4,730
		0070	0420	7123610	SLAB DRAIN	26.00	0.00	26.00	EA	26.00	\$350.00	\$9,100.
		0070	0430	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,200.00	\$2,400.

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Q	uantities	and Value	es are b	ased on R	eport Generated date and can differ from the posted amo	ount at the	e time the	e Estimate v	vas Gen	erated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
221118-H05	J9S3568	0070	0440	7161000	PLAIN NEOPRENE BEARING PAD	6.00	0.00	6.00	EA	6.00	\$200.00	\$1,200.00
		0070	0450	7161002	LAMINATED NEOPRENE BEARING PAD	12.00	0.00	12.00	EA	12.00	\$230.00	\$2,760.00
		0001	5001	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$7,869.00	\$7,869.00
	Project J	9S3568 - To	otal Value	Posted to D	Date as of Report Generated Date							\$860,717.27
221118-H05 Overall - Total Value Posted to Date as of Report Generated Date										\$860,717.27		



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project:	J9S3568	3										
Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0240	0240 8061005 RO	ROCK DITCH CHECK	9/5/23	9/6/23	7.50	LF	SE quadrant of Br. A9123. 10' of Alternate Ditch check	48+40	20' L of C/L			
				9/6/23	7.50	LF	SE quadrant of Br. A9123. 10' of Alternate Ditch check	48+90	20' L of C/L			
				9/6/23	7.50	LF	SE quadrant of Br. A9123. 10' of Alternate Ditch check	49+40	20' R of C/L			
				9/6/23	7.50	LF	SE quadrant of Br. A9123. 10' of Alternate Ditch check	49+90	20' R of C/L			
				9/6/23	7.50	LF	SW quadrant of Br. A9123. 10' of Alternate Ditch check	48+40	20' R of C/L			
				9/6/23	7.50	LF	SW quadrant of Br. A9123. 10' of Alternate Ditch check	48+90	20' R of C/L			
				9/6/23	7.50	LF	SW quadrant of Br. A9123. 10' of Alternate Ditch check	49+40	20' R of C/L			
				9/6/23	7.50	LF	SW quadrant of Br. A9123. 10' of Alternate Ditch check	49+90	20' R of C/L			

The information below this line are details for Construction Signs (if applicable). No Data Available



oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
3568	0020	POROUS BACKFILL	Material		5	Jul 3, 2023	SYSTEM	\$3,120.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user olivem2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					5	Jul 3, 2023	SYSTEM	(\$3,120.00)		
					6	Jul 17, 2023	SYSTEM	\$3,120.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user olivem2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					6	Jul 17, 2023	SYSTEM	(\$3,120.00)		
				- Total				\$0.00		
			Material - To	al				\$0.00		
- 1	0020 -	Total						\$0.00		
	0040	TYPE 5 AGGREGATE FOR BASE (6 IN.	Material		7	Aug 2, 2023	SYSTEM	\$9,194.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user thomar1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
		THICK)			7	Aug 2, 2023	SYSTEM	(\$9,194.90)		
					8	Aug 16, 2023	SYSTEM	\$9,194.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user olivem2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					8	Aug 16, 2023	SYSTEM	(\$9,194.90)		
						9	Sep 5, 2023	SYSTEM	\$9,194.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user olivem2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					9	Sep 5, 2023	SYSTEM	(\$9,194.90)		
				- Total				\$0.00		
			Material - To	al				\$0.00		
			Price FUEL		7	Aug 2, 2023	SYSTEM	(\$282.85)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
				- Total				(\$282.85)		
			Price FUEL -	Total				(\$282.85)		
	0040 -				0	4 40	OVOTELA	(\$282.85)		
	0050	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	Material		8	Aug 16, 2023	SYSTEM	\$3,282.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user olivem2 overridding Payment Estimate Exception 3 on the current Payment Estimate.	
					8	Aug 16, 2023	SYSTEM	(\$3,282.50)		
				- Total				\$0.00		
			Material - To	1				\$0.00		
			Other Item Adjustment	ACAD	8	Aug 16, 2023	olivem2	(\$58.09)		
				ACAD - Tota				(\$58.09)		
			Other Item A	djustment - T	otal			(\$58.09)		
			Price FUEL		8	Aug 16, 2023	SYSTEM	(\$124.08)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
				- Total				(\$124.08)		
			Price FUEL -	Total				(\$124.08)		
	0050 -							(\$182.17)		
	0060	BITUMINOUS PAVEMENT MIXTURE PG64-22	Other Item Adjustment	ACAD		Aug 16, 2023	olivem2	(\$52.21)		
		(BAS		ACAD - Tota				(\$52.21)		
			Other Item A	djustment - T				(\$52.21)		
			Price FUEL		8	Aug 16, 2023	SYSTEM		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
				- Total				(\$120.27)		
			Price FUEL -	Total				(\$120.27)		
	0060 -							(\$172.48)		
	0070	MISC.	Material		8	Aug 16,	SYSTEM	\$43,290.47	This adjustment offsets the original system-generated Material Payment	



Dec 6, 2023

ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
568	0070	MISC.	Material			2023			Estimate Item Adjustment (0005) due to user olivem2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					8	Aug 16, 2023	SYSTEM	(\$43,290.47)	
				- Total				\$0.00	
			Material - Tot	al				\$0.00	
			Other Item Adjustment	ACAD	8	Aug 16, 2023	olivem2	(\$660.38)	
				ACAD - Tota	al			(\$660.38)	
			Other Item A	djustment - T	otal			(\$660.38)	
	0070 -	Total						(\$660.38)	
	0080	TACK COAT	Material		8	Aug 16, 2023	SYSTEM	\$265.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user olivem2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					8	Aug 16, 2023	SYSTEM	(\$265.00)	
					9	Sep 5, 2023	SYSTEM	\$265.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user olivem2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					9	Sep 5, 2023	SYSTEM	(\$265.00)	
				- Total				\$0.00	
			Material - Tot	al				\$0.00	
	0080 -	Total						\$0.00	
	0100		<		4	Jun 16, 2023	SYSTEM	\$1,033.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user olivem2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Jun 16, 2023	SYSTEM	(\$1,033.00)	
					5	Jul 3, 2023	SYSTEM	\$1,033.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user olivem2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					5	Jul 3, 2023	SYSTEM	(\$1,033.00)	
				- Total					
			Material - Tot	al				\$0.00	
	0100 -	Total						\$0.00	
	0120	CONSTRUCTION SIGNS	Material		3	Jun 1, 2023	SYSTEM	\$4,620.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user olivem2 overridding Payment
									Estimate Exception 1 on the current Payment Estimate.
					3	Jun 1, 2023	SYSTEM	(\$4,620.00)	Estimate Exception 1 on the current Payment Estimate.
				- Total	3		SYSTEM	(\$4,620.00) \$0.00	Estimate Exception 1 on the current Payment Estimate.
			Material - Tot		3		SYSTEM	(,	Estimate Exception 1 on the current Payment Estimate.
	0120 -	Total	Material - Tol		3		SYSTEM	\$0.00	Estimate Exception 1 on the current Payment Estimate.
	0120 - 0130	Total ADVANCED WARNING RAIL SYSTEM			3 3		SYSTEM	\$0.00 \$0.00	Estimate Exception 1 on the current Payment Estimate.
		ADVANCED WARNING RAIL				2023 Jun 1,		\$0.00 \$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user olivem2 overridding Payment
I		ADVANCED WARNING RAIL			3	2023 Jun 1, 2023 Jun 1,	SYSTEM	\$0.00 \$0.00 \$0.00 \$180.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user olivem2 overridding Payment
I		ADVANCED WARNING RAIL		al - Total	3	2023 Jun 1, 2023 Jun 1,	SYSTEM	\$0.00 \$0.00 \$180.00 (\$180.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user olivem2 overridding Payment
		ADVANCED WARNING RAIL SYSTEM	Material	al - Total	3	2023 Jun 1, 2023 Jun 1,	SYSTEM	\$0.00 \$0.00 \$180.00 (\$180.00) \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user olivem2 overridding Payment
	0130	ADVANCED WARNING RAIL SYSTEM	Material Material - Tot	al - Total	3	2023 Jun 1, 2023 Jun 1,	SYSTEM	\$0.00 \$0.00 \$180.00 \$180.00 (\$180.00) \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user olivem2 overridding Payment
	0130 0130 -	ADVANCED WARNING RAIL SYSTEM Total CHANNELIZER	Material Material - Tot	al - Total	3 3	2023 Jun 1, 2023 Jun 1, 2023 Jun 1,	SYSTEM	\$0.00 \$0.00 \$180.00 \$180.00 (\$180.00) \$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user olivem2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
	0130 0130 -	ADVANCED WARNING RAIL SYSTEM Total CHANNELIZER	Material Material - Tot	al - Total	3 3 3	2023 Jun 1, 2023 Jun 1, 2023 Jun 1, 2023 Jun 1, 2023 Jun 1,	SYSTEM	\$0.00 \$0.00 \$180.00 \$180.00 \$0.00 \$0.00 \$270.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user olivem2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
	0130 0130 -	ADVANCED WARNING RAIL SYSTEM Total CHANNELIZER	Material Material - Tot	al - Total al - Total	3 3 3	2023 Jun 1, 2023 Jun 1, 2023 Jun 1, 2023 Jun 1, 2023 Jun 1,	SYSTEM	\$0.00 \$0.00 \$180.00 \$180.00 (\$180.00) \$0.00 \$0.00 \$270.00 (\$270.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user olivem2 overridding Payment Estimate Exception 2 on the current Payment Estimate.



Dec 6, 2023

	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks				
J9S3568	0150	TYPE III	Material	Туре	3	Jun 1,	SYSTEM	\$870.00	This adjustment offsets the original system-generated Material Payment				
1933300	0130	MOVEABLE BARRICADE	Material		5	2023	STOTEM	φ070.00	Estimate land automatical program a system generated material rayment Estimate land Adjustment (0004) due to user olivem2 overidding Payment Estimate Exception 4 on the current Payment Estimate.				
					3	Jun 1, 2023	SYSTEM	(\$870.00)					
				- Total				\$0.00					
			Material - To	tal				\$0.00					
	0150 -	- Total						\$0.00					
	0160	CMS W/O COMMUNICATION INTERFACE,	Material		3	Jun 1, 2023	SYSTEM	\$9,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user olivem2 overridding Payment Estimate Exception 5 on the current Payment Estimate.				
		CONT F/			3	Jun 1, 2023	SYSTEM	(\$9,000.00)					
				- Total				\$0.00					
			Material - To	tal				\$0.00					
	0160 -	- Total						\$0.00					
	0210	PERMANENT EROSION CONTROL	Material		4	Jun 16, 2023	SYSTEM	\$1,086.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user olivem2 overridding Payment Estimate Exception 2 on the current Payment Estimate.				
		GEOTEXTILE			4	Jun 16, 2023	SYSTEM	(\$1,086.40)					
				- Total				\$0.00					
			Material - To	tal				\$0.00					
	0210 -	- Total						\$0.00					
	0230	SEEDING - COOL SEASON GRASSES	Material		8	Aug 16, 2023	SYSTEM	\$6,960.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user olivem2 overridding Payment Estimate Exception 9 on the current Payment Estimate.				
					8	Aug 16, 2023	SYSTEM	(\$6,960.00)	0)				
				- Total									
			Material - To	al				\$0.00					
			Other Item Adjustment	OTHR	8	Aug 16, 2023	olivem2	(\$4,640.00)	20% Withholding for seed growth establishment.				
			-		10	Dec 4, 2023	olivem2	\$4,640.00	Seed growth established.				
				OTHR - Tota	al		olivem2	\$0.00	Seed growth established.				
				OTHR - Tota djustment - T	al		olivem2		Seed growth established.				
	0230 -	- Total			al		olivem2	\$0.00	Seed growth established.				
	0230 - 0240	- Total ROCK DITCH CHECK			al		olivem2	\$0.00 \$0.00	Seed growth established. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user olivem2 overridding Payment Estimate Exception 8 on the current Payment Estimate.				
		ROCK DITCH	Other Item A		al 'otal	2023 Jun 1,		\$0.00 \$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user olivem2 overridding Payment				
I		ROCK DITCH	Other Item A		al Total 3	2023 Jun 1, 2023 Jun 1,	SYSTEM	\$0.00 \$0.00 \$0.00 \$720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user olivem2 overridding Payment				
I		ROCK DITCH	Other Item A	djustment - T	al fotal 3 3	2023 Jun 1, 2023 Jun 1, 2023 Jun 16,	SYSTEM	\$0.00 \$0.00 \$720.00 (\$720.00) \$720.00 (\$720.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user olivem2 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user olivem2 overridding Payment				
		ROCK DITCH	Other Item A		al fotal 3 3 4	2023 Jun 1, 2023 Jun 1, 2023 Jun 16, 2023 Jun 16,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$720.00 (\$720.00) \$720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user olivem2 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user olivem2 overridding Payment				
		ROCK DITCH	Other Item A	djustment - T	al fotal 3 3 4	2023 Jun 1, 2023 Jun 1, 2023 Jun 16, 2023 Jun 16,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$720.00 (\$720.00) \$720.00 (\$720.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user olivem2 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user olivem2 overridding Payment				
		ROCK DITCH CHECK	Other Item A Material	djustment - T	al fotal 3 3 4	2023 Jun 1, 2023 Jun 1, 2023 Jun 16, 2023 Jun 16,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$720.00 (\$720.00) \$720.00 (\$720.00) \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user olivem2 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user olivem2 overridding Payment				
	0240	ROCK DITCH CHECK	Other Item A Material	djustment - T	al fotal 3 3 4	2023 Jun 1, 2023 Jun 1, 2023 Jun 16, 2023 Jun 16,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$720.00 (\$720.00) \$720.00 (\$720.00) (\$720.00) \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user olivem2 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user olivem2 overridding Payment				
	0240	ROCK DITCH CHECK	Other Item A Material Material - To	djustment - T	al otal 3 3 4 4	2023 Jun 1, 2023 Jun 1, 2023 Jun 16, 2023 Jun 16, 2023 Jun 1, 2023	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$720.00 (\$720.00) \$720.00 (\$720.00) (\$720.00) \$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user olivem2 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 8 on the current Payment Estimate.				
	0240	ROCK DITCH CHECK	Other Item A Material Material - To	djustment - T	al otal 3 3 4 4 4 3	2023 Jun 1, 2023 Jun 1, 2023 Jun 16, 2023 Jun 16, 2023 Jun 16, 2023 Jun 1, 2023 Jun 1, 2023	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$720.00 (\$720.00) \$720.00 (\$720.00) (\$720.00) \$0.00 \$0.00 \$275.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user olivem2 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 8 on the current Payment Estimate.				
	0240	ROCK DITCH CHECK	Other Item A Material Material - To	djustment - T	al otal 3 3 4 4 3 3 3	2023 Jun 1, 2023 Jun 1, 2023 Jun 16, 2023 Jun 16, 2023 Jun 16, 2023 Jun 1, 2023 Jun 1, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$720.00 (\$720.00) \$720.00 (\$720.00) (\$720.00) \$0.00 \$0.00 \$275.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user olivem2 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user olivem2 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 8 on the current Payment Estimate.				



Dec 6, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9S3568	0270	TYPE C BERM	Material - Tot	al				\$0.00	
	0270 -	Total						\$0.00	
	0290	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile		8	Aug 16, 2023	SYSTEM	(\$8,900.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$8,900.00)	
			Construction	Stockpile - 1	Total			(\$8,900.00)	
			Construction Stockpile STMI		1	Jan 17, 2023	SYSTEM	\$8,900.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			01111	- Total				\$8,900.00	
			Construction	Stockpile S	TMI - Total			\$8,900.00	
	0290 -							\$0.00	
	0300	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		8	Aug 16, 2023	SYSTEM	(\$7,500.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)		- Total				(\$7,500.00)	
			Construction	Stockpile - 1	Fotal			(\$7,500.00)	
			Construction Stockpile STMI		1	Jan 17, 2023	SYSTEM	\$7,500.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			5 T WI	- Total				\$7,500.00	
			Construction	Stockpile S	TMI - Total			\$7,500.00	
	0300 -	Total						\$0.00	
	0340	GALVANIZED STRUCTURAL STEEL PILES (12	Material		3	Jun 1, 2023	SYSTEM	\$31,616.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user olivem2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
		IN			3	Jun 1, 2023	SYSTEM	(\$31,616.00)	
				- Total				\$0.00	
			Material - Tot	al				\$0.00	
	0340 -							\$0.00	
	0360	PILE POINT REINFORCEMENT	Material		3	Jun 1, 2023	SYSTEM	\$1,625.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user olivem2 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					3 Jun 1 2023		SYSTEM	(\$1,625.00) \$0.00	
				- Total terial - Total					
	0360 -	Total	Material - Tot	aı				\$0.00	
	0370	CLASS B	Material		4	Jun 16,	SYSTEM	\$0.00 \$42,960.00	This adjustment offsets the original system-generated Material Payment
	0370	CONCRETE (SUBSTRUCTURE)	Material		4	2023	STOTEM	φ42,900.00	Estimate Exception 3 on the current Payment Estimate Exception 3 on the current Payment Estimate Exception 3 on the current Payment Estimate.
					4	Jun 16, 2023	SYSTEM	(\$42,960.00)	
					5	Jul 3, 2023	SYSTEM	\$42,960.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user olivem2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					5	Jul 3, 2023	SYSTEM	(\$42,960.00)	
					6	Jul 17, 2023	SYSTEM	\$42,960.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user olivem2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					6	Jul 17, 2023	SYSTEM	(\$42,960.00)	
					7	Aug 2, 2023	SYSTEM	\$42,960.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user thomar1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					7	Aug 2, 2023	SYSTEM	(\$42,960.00)	
					8	Aug 16, 2023	SYSTEM	\$42,960.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user olivem2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					8	Aug 16, 2023	SYSTEM	(\$42,960.00)	



Dec 6, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks							
9S3568	0370	CLASS B	Material	- Total				\$0.00								
		CONCRETE (SUBSTRUCTURE)	Material - To	tal				\$0.00								
	0370 -	- Total						\$0.00								
	0380	TYPE D BARRIER	Material		6	Jul 17, 2023	SYSTEM	\$40,875.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user olivem2 overridding Payment Estimate Exception 3 on the current Payment Estimate.							
					6	Jul 17, 2023	SYSTEM	(\$40,875.00)								
					7	Aug 2, 2023	SYSTEM	\$40,875.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user thomar1 overridding Payment Estimate Exception 4 on the current Payment Estimate.							
					7	Aug 2, 2023	SYSTEM	(\$40,875.00)								
					8	Aug 16, 2023	SYSTEM	\$40,875.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user olivem2 overridding Payment Estimate Exception 7 on the current Payment Estimate.							
					8	Aug 16, 2023	SYSTEM	(\$40,875.00)								
				- Total				\$0.00								
			Material - To	tal				\$0.00								
	0380 -	- Total						\$0.00								
	0390	SLAB ON CONCRETE BEAM			5	Jul 3, 2023	SYSTEM	\$167,480.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user olivem2 overridding Payment Estimate Exception 4 on the current Payment Estimate.							
					5	Jul 3, 2023	SYSTEM	(\$167,480.00)								
												6	Jul 17, 2023	SYSTEM	\$176,170.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user olivem2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					6	Jul 17, 2023	SYSTEM	(\$176,170.00)								
						7	Aug 2, 2023	SYSTEM	\$176,170.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user thomar1 overridding Payment Estimate Exception 5 on the current Payment Estimate.						
				7 8	7	Aug 2, 2023	SYSTEM	(\$176,170.00)								
					8	Aug 16, 2023	SYSTEM	\$176,170.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user olivem2 overridding Payment Estimate Exception 8 on the current Payment Estimate.							
					8	Aug 16, 2023	SYSTEM	(\$176,170.00)								
				- Total				\$0.00								
			Material - To	tal				\$0.00								
	0390 -	- Total						\$0.00								
	0410	REINFORCING STEEL (BRIDGES)	Material		4	Jun 16, 2023	SYSTEM	\$4,730.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user olivem2 overridding Payment Estimate Exception 4 on the current Payment Estimate.							
					4	Jun 16, 2023	SYSTEM	(\$4,730.00)								
					5	Jul 3, 2023	SYSTEM	\$4,730.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user olivem2 overridding Payment Estimate Exception 7 on the current Payment Estimate.							
					5	Jul 3, 2023	SYSTEM	(\$4,730.00)								
				- Total				\$0.00								
			Material - Tot	tal				\$0.00								
	0410 -	- Total						\$0.00								
983568 -	- Total							(\$1,297.88)								
)verall -	Total							(\$1,297.88)								



There are no contract adjustments to display for this contract.